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1. Overall Description:

2. Actions:

During RAN2#57, System Information broadcast (the amount of information and content delivery) was discussed and RAN2 concluded that major part of BCCH content is to be transmitted over DL-SCH.
The content of BCH is to comprise only of “most necessary/urgent” information (and may be latter partitioned into Primary and Secondary BCH) and RAN2 assumes that some L1 parameters are expected to be transmitted as a part of BCH. RAN2 would like to know which L1 parameters RAN1 perceives as needed as a part of system information, which of these are to be transmitted on BCH (the number of bits) and which can be transmitted on the DL-SCH less frequently (the number of bits and how often).
In order for UE to read the System Information needed to camp/reselect the cell, UE needs to read L1/L2 control channel to acquire scheduling for DL-SCH carrying BCCH content. In order to read L1/L2 control channel, UE needs to be aware of the Cell Bandwidth. RAN2 sees two possible ways to place indication of the bandwidth:
· Information on cell bandwidth is provided to the UE on L1
· Information on the cell bandwidth is acquired from BCH

In case information on cell bandwidth is a part of information carried on BCH, RAN2 would like to know how many bits is needed to carry the information. The reason RAN2 is asking this question is RAN1 decision to adopt bandwidth agnostic L1 and only use the number of resource blocks to indicate the bandwidth while it is up to RAN4 to specify the set of bandwidths corresponding to number of resource blocks.
With currently specified bandwidths (1.25, 2.5, 5, 10 and 20MHz) RAN2 could use 3 bits to indicate cell bandwidth but since the set of bandwidths specified by RAN4 could change, RAN2 wonders whether it is best to use L1 approach and specify the BW as the number of resource blocks used. In that case, 8 bits will be sufficient to specify cell bandwidth. Advantage of this approach is flexibility for further specification of new bandwidths.
To RAN1 group:
Questions/Actions: 
· RAN2 kindly asks RAN1 to answer whether information on cell bandwidth needs to be transmitted as a part of System Information?
To RAN4 group:
Questions/Actions: 

· RAN2 kindly asks RAN4 to answer how many cell bandwidths are intended to be supported and how many bits will be needed to indicate the cell bandwidth?
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